Math 1324
Section 1.1
Linear Equations: Slope and Equations of Lines

The videos corresponding to this worksheet can be found at

https://online.math.uh.edu/Math1324/.
UH students can alternatively view the videos within the Math 1324 textbook.


https://online.math.uh.edu/Math1324/

Slopeof aLine

Let (Xl, yl) anc(Xz, yz) be two arbitrary points on the two dimensional plane. The slope of the
line that passes through these two points, denoteal s/given by

provided that X, =X, #0 . X=X

Example 1: Find the slope of the line that passes through (-2, -2) and (4, -4).

Example 2: Find the slope of the line that passes through (2, 3) and (2, -2).



Example 3: Find the slope of the line that passes th@%hoj (%‘1@!}

Example 4: Find the slope of the line that passes through (-1, 10) and (-3, -10).



Equations of Lines

Point-Slope Form: y -y, =m(x-x ), wheremis the slope anflx.,y,) is a point on the line.
Slope-Intercept Form: y =mx+b, wheremis the slope ant is they-intercept of the line.

Standard Form: Ax+ By =C, whereA, B, andC are real numbers adand B cannot both be
equal to zero.

General Form: Ax+ By+C =0, whereA, B, andC are real numbers aland B cannot both be
equal to zero.

Example 5: Given 38+ 4y = -16, find the slope angintercepit.

Example 6: Write an equation of the line that has slope -¥-antdrcept -1/4.



Example 7: Write an equation of the line that has slope 2 and passes through (5, 8).

Example 8: Write an equation of the line that has slepé and passes through (-1, -6).

Example 9: Write an equation of the line that passes through (-3, 1) and (-1, -7).

Example 10: Write an equation of the line that passes through (0, -8) and (5, 0).



Parallel and Perpendicular Lines
Two nonvertical lines arparallel if anBbnly iffAgir slopes are the same.

Two lines arger pendicular if and only if their slopes are negative reciprgoai each other.

Example 11: Write an equation of the line thatsgagshrough (-2, 7) and is perpendicular to
y = -5x—10.

Example 12: Write an equation of the line thatsgaghrough (1, 2) and is parallel to
-10x + 5y = -10.



Example 13: Write an equation of the line thatsgaghrough (10, 15) and is perpendicular to
the line that passes through (0, 4) and (-6, -2).

Example 14: Write an equation of the line thatsgagshrough (0, 2) and is parallel to the line
that passes through (-5, 2) and (3, 8).





